



**I T H E A**



**International Journal**

**INFORMATION** **TECHNOLOGIES**  
&  
**KNOWLEDGE**



**2009** **Volume 3** **Number 2**



**International Journal  
INFORMATION TECHNOLOGIES & KNOWLEDGE**

Volume 3 / 2009, Number 2

Editor in chief: Krassimir Markov (Bulgaria)

International Editorial Board

	Victor Gladun	(Ukraine)		
Abdelmgeid Amin Ali	(Egypt)		Larissa Zaynutdinova	(Russia)
Adil Timofeev	(Russia)		Laura Ciocoiu	(Romania)
Aleksey Voloshin	(Ukraine)		Luis F. de Mingo	(Spain)
Alexander Kuzemin	(Ukraine)		Martin P. Mintchev	(Canada)
Alexander Lounev	(Russia)		Natalia Ivanova	(Russia)
Alexander Palagin	(Ukraine)		Nelly Maneva	(Bulgaria)
Alfredo Milani	(Italy)		Nikolay Lyutov	(Bulgaria)
Avram Eskenazi	(Bulgaria)		Orly Yadid-Pecht	(Israel)
Axel Lehmann	(Germany)		Peter Stanchev	(Bulgaria)
Darina Dicheva	(USA)		Radoslav Pavlov	(Bulgaria)
Ekaterina Solovyova	(Ukraine)		Rafael Yusupov	(Russia)
Eugene Nickolov	(Bulgaria)		Rumyana Kirkova	(Bulgaria)
George Totkov	(Bulgaria)		Stefan Dodunekov	(Bulgaria)
Hasmik Sahakyan	(Armenia)		Stoyan Poryazov	(Bulgaria)
Iliia Mitov	(Bulgaria)		Tatyana Gavrilova	(Russia)
Irina Petrova	(Russia)		Vadim Vagin	(Russia)
Ivan Popchev	(Bulgaria)		Vasil Sgurev	(Bulgaria)
Jeanne Schreurs	(Belgium)		Velina Slavova	(Bulgaria)
Juan Castellanos	(Spain)		Vitaliy Lozovskiy	(Ukraine)
Julita Vassileva	(Canada)		Vladimir Lovitskii	(UK)
Karola Witschurke	(Germany)		Vladimir Ryazanov	(Russia)
Koen Vanhoof	(Belgium)		Zhili Sun	(UK)

IJ ITK is official publisher of the scientific papers of the members of  
the ITHEA International Scientific Society

IJ ITK rules for preparing the manuscripts are compulsory.

The rules for the papers for IJ ITK as well as the subscription fees are given on [www.ithea.org](http://www.ithea.org)

The camera-ready copy of the paper should be received by e-mail: [info@foibg.com](mailto:info@foibg.com).

Responsibility for papers published in IJ ITK belongs to authors.

General Sponsor of IJ ITK is the Consortium FOI Bulgaria ([www.foibg.com](http://www.foibg.com)).

International Journal "INFORMATION TECHNOLOGIES & KNOWLEDGE" Vol.3, Number 2, 2009

Edited by the Institute of Information Theories and Applications FOI ITHEA®, Bulgaria,  
in collaboration with the V.M.Glushkov Institute of Cybernetics of NAS, Ukraine,  
and the Institute of Mathematics and Informatics, BAS, Bulgaria.

Publisher: ITHEA®

Sofia, 1000, P.O.B. 775, Bulgaria. [www.ithea.org](http://www.ithea.org), e-mail: [info@foibg.com](mailto:info@foibg.com)

Printed in Bulgaria

Copyright © 2009 All rights reserved for the publisher and all authors.

© 2007-2009 "Information Technologies and Knowledge" is a trademark of Krassimir Markov

ISSN 1313-0455 (printed)

ISSN 1313-048X (online)

ISSN 1313-0501 (CD/DVD)

## DUAL PROBLEM OF FUZZY PORTFOLIO OPTIMIZATION

Yuriy Zaychenko, Maliheh Esfandiaryfard

*Abstract:* The dual problem of fuzzy portfolio optimization is considered and investigated. A mathematical model of this problem was constructed, explored and the sufficient conditions for its convexity were obtained. The sufficient optimality conditions of its solution are presented.

*Keywords:* fuzzy portfolio, optimization, dual problem, optimality conditions

*ACM Classification Keywords:* H.4.2. Information system Applications: Types of Systems Decision Support

---

### Introduction

Last years the problem of portfolio optimization attracts great attention due to the development of financial markets in Ukraine. The determining of optimal portfolio enables the investors and financial funds to distribute available financial assets, to obtain high dividends and cut the risk of erroneous solutions. A novel approach to portfolio optimization which is an alternative to classical portfolio model of Markovitz considers this problem under uncertainty and based on application of fuzzy sets theory.

The fuzzy portfolio problem was considered and investigated in [Недосекин, 2003, Зайченко, 2007]. In these works the problem statement was the following: to optimize the total portfolio profitableness under constraints on possible risk. The algorithm of its solution was suggested and explored in [Зайченко, 2007]. In [Зайченко, 2008] the forecasting of stock prices was suggested to utilize in fuzzy portfolio optimization which increased the efficiency of the solution.

The goal of the present work is the consideration of the dual portfolio problem, investigation of the constructed mathematical model and determining the optimality conditions of its solution.

---

### The Dual Fuzzy Portfolio Problem

The initial portfolio optimization problem which is naturally to be called as direct has the following form [Недосекин, 2003, Зайченко, 2007] :

Optimize the expected profitableness of a portfolio

$$\tilde{r} = \sum_{i=1}^N x_i \tilde{r}_i \rightarrow \max \quad (1)$$

under constraints on risk

$$\beta(x) \leq \beta_{\text{задан}} \quad 0 < \beta < 1, \quad (2)$$

$$\sum_{i=1}^N x_i = 1, \quad (3)$$

$$x_i \geq 0. \quad (4)$$

Let's consider the case when the criterion value  $r^*$  meets the conditions

$$\sum_{i=1}^N x_i r_{i1} \leq r^* \leq \sum_{i=1}^N x_i \tilde{r}_i = \tilde{r}. \quad (5)$$

Then

$$\beta(x) = \frac{1}{\sum_{i=1}^N x_i r_{i2} - \sum_{i=1}^N x_i r_{i1}} \left[ \left( r^* - \sum_{i=1}^N x_i r_{i1} \right) + \left( \sum_{i=1}^N x_i \tilde{r}_i - r^* \right) \ln \left( \frac{\sum_{i=1}^N x_i \tilde{r}_i - r^*}{\sum_{i=1}^N x_i \tilde{r}_i - \sum_{i=1}^N x_i r_{i1}} \right) \right]. \quad (6)$$

Now consider the dual portfolio optimization problem dual related to the problem (1)-(4):

to minimize

$$\beta(x) \quad (7)$$

under conditions

$$\tilde{r} = \sum_{i=1}^N x_i \tilde{r}_i \geq r_{\text{задан}} = r^*, \quad (8)$$

$$\sum_{i=1}^N x_i = 1, x_i \geq 0. \quad (9)$$

Let's prove that the risk function  $\beta(x)$  is convex where  $\beta(x) = \left( A(x) + B(x) \ln \frac{B(x)}{C(x)} \right) - D(x)$ .

It's necessary to prove that function  $D(x) = \frac{1}{\sum_{i=1}^N x_i r_{i2} - \sum_{i=1}^N x_i r_{i1}}$  is convex and function

$A(x) + B(x) \ln \frac{B(x)}{C(x)}$  is also convex. And besides, both functions are decreasing and nonnegative by  $x_i$ ,

where  $A(x) = r^* - \sum_{i=1}^N x_i r_{i1}$ ;  $B(x) = \sum_{i=1}^N x_i \tilde{r}_i - r^*$ ;  $C(x) = \sum_{i=1}^N x_i \tilde{r}_i - \sum_{i=1}^N x_i r_{i1}$ .

Really  $A(x)$  is linear and therefore is not strictly convex and both  $B(x)$  and  $C(x)$  are linear.

Besides,  $\tilde{r}_i \geq r_{i1}$ ,  $i = \overline{1, N}$ ,  $\sum_{i=1}^N x_i \tilde{r}_i - r^* > 0$  by assumption

Consider the function  $D(x)$ :

$$D(x) = \frac{1}{\sum_{i=1}^N x_i r_{i2} - \sum_{i=1}^N x_i r_{i1}},$$

$$\frac{\partial D(x)}{\partial x_i} = -\frac{r_{i2} - r_{i1}}{\left( \sum_{i=1}^N x_i r_{i2} - \sum_{i=1}^N x_i r_{i1} \right)^2},$$

$$\frac{\partial^2 D(x)}{\partial x_i^2} = \frac{2(r_{i2} - r_{i1})^2}{\left( \sum_{i=1}^N x_i r_{i2} - \sum_{i=1}^N x_i r_{i1} \right)^3} > 0.$$

And as  $r_{i2} \geq r_{i1}$  then  $\frac{\partial^2 D(x)}{\partial x_i^2} > 0$ , for all  $i = \overline{1, N}$  and  $\frac{\partial^2 D}{\partial x_i \partial x_j} = \frac{2(r_{i2} - r_{i1})(r_{j2} - r_{j1})}{\left( \sum_{i=1}^N x_i r_{i2} - \sum_{i=1}^N x_i r_{i1} \right)^3}$ .

Besides, all the diagonal minors of the second order

$$\begin{vmatrix} \frac{\partial^2 D}{\partial x_i^2} & \frac{\partial^2 D}{\partial x_i \partial x_j} \\ \frac{\partial^2 D}{\partial x_j \partial x_i} & \frac{\partial^2 D}{\partial x_j^2} \end{vmatrix} = 0.$$

Therefore function  $D(x)$  is convex.

Calculate

$$\begin{aligned} \frac{\partial}{\partial x_i} \left[ B(x) \ln \frac{B(x)}{C(x)} \right] &= B'(x) \ln \frac{B(x)}{C(x)} + B(x) \frac{B'(x)C(x) - C'(x)B(x)}{C^2(x)} = \\ &= B'(x) \ln \frac{B(x)}{C(x)} + B'(x) - \frac{C'(x)B(x)}{C(x)} \end{aligned} \quad (10)$$

But

$$C'(x) = \frac{\partial B(x)}{\partial x_i} (\tilde{r}_i - r_{i1}) > 0,$$

$$B'(x) = \frac{\partial B(x)}{\partial x_i} = \tilde{r}_i,$$

and substituting in (10) obtain

$$\frac{\partial}{\partial x_i} \left[ B(x) \ln \frac{B(x)}{C(x)} \right] = \tilde{r}_i \ln \frac{B(x)}{C(x)} + \tilde{r}_i - (\tilde{r}_i - r_{i1}) \frac{B(x)}{C(x)}. \quad (11)$$

Find the second partial derivatives

$$\begin{aligned} \frac{\partial^2}{\partial x_i^2} \left[ B(x) \ln \frac{B(x)}{C(x)} \right] &= \tilde{r}_i \frac{C(x) B'(x)C(x) - C'(x)B(x)}{C^2(x)} - (\tilde{r}_i - r_{i1}) \frac{B'(x)C(x) - C'(x)B(x)}{C^2(x)} = \\ &= \tilde{r}_i \left( \frac{B'(x)}{B(x)} - \frac{C'(x)}{C(x)} \right) - (\tilde{r}_i - r_{i1}) \left[ \frac{B'(x)}{C(x)} - \frac{C'(x)B(x)}{C^2(x)} \right] = \end{aligned} \quad (12)$$

$$= \tilde{r}_i \left[ \frac{\tilde{r}_i}{\sum_{i=1}^N x_i \tilde{r}_i - r^*} - \frac{\tilde{r}_i - r_{i1}}{\sum_{i=1}^N x_i \tilde{r}_i - \sum_{i=1}^N x_i r_{i1}} \right] -$$

$$- (\tilde{r}_i - r_{i1}) \left[ \frac{\tilde{r}_i}{\sum_{i=1}^N x_i \tilde{r}_i - \sum_{i=1}^N x_i r_{i1}} - \frac{(\sum_{i=1}^N x_i \tilde{r}_i - r^*)(\tilde{r}_i - r_{i1})}{(\sum_{i=1}^N x_i (\tilde{r}_i - r_{i1}^*))^2} \right] =$$

$$= \frac{\tilde{r}^2}{\sum_{i=1}^N x_i \tilde{r}_i - r^*} - \frac{2\tilde{r}(\tilde{r}_i - r_{i1})}{\sum_{i=1}^N x_i (\tilde{r}_i - r_{i1})} + \frac{(\tilde{r}_i - r_{i1})^2 (\sum_{i=1}^N x_i \tilde{r}_i - r^*)}{(\sum_{i=1}^N x_i (\tilde{r}_i - r_{i1}^*))^2} =$$

After transferring to common denominator we obtain

$$= \frac{\tilde{r}_i^2 (\sum_{i=1}^N x_i (\tilde{r}_i - r_{i1}^*))^2 - 2\tilde{r}_i (\tilde{r}_i - r_{i1}) (\sum_{i=1}^N x_i \tilde{r}_i - r^*) \sum_{i=1}^N x_i (\tilde{r}_i - r_{i1})}{(\sum_{i=1}^N x_i \tilde{r}_i - r^*) (\sum_{i=1}^N x_i (\tilde{r}_i - r_{i1}^*))^2} +$$

$$+ \frac{(\tilde{r}_i - r_{i1})^2 (\sum_{i=1}^N x_i \tilde{r}_i - r^*)^2}{(\sum_{i=1}^N x_i (\tilde{r}_i - r_{i1}^*))^2 (\sum_{i=1}^N x_i \tilde{r}_i - r^*)} =$$

$$= \frac{\left[ \tilde{r}_i \left( \sum_{i=1}^N x_i (\tilde{r}_i - r_{i1}) - (\tilde{r}_i - r_{i1}) \left( \sum_{i=1}^N x_i \tilde{r}_i - r^* \right) \right) \right]^2}{(\sum_{i=1}^N x_i \tilde{r}_i - r^*) (\sum_{i=1}^N x_i (\tilde{r}_i - r_{i1}^*))^2} \geq 0$$

As  $\tilde{r}_i > (\tilde{r}_i - r_{i1})$  and  $\sum_{i=1}^N x_i (\tilde{r}_i - r_{i1}) > \sum_{i=1}^N x_i \tilde{r}_i - r^*$ , the expression (15) is strictly greater than 0.

Thus all partial derivatives of the second order  $\Delta_{ii} = \frac{\partial^2}{\partial x_i^2} \left[ B(x) \ln \frac{B(x)}{C(x)} \right] > 0$  and respectively

$$\frac{\partial^2}{\partial x_i^2} \left[ A(x) + B(x) \ln \frac{B(x)}{C(x)} \right] > 0.$$

Now it's necessary to show that all the diagonal minors of the following form

$$\begin{bmatrix} \Delta_{ii} & \Delta_{ij} \\ \Delta_{ji} & \Delta_{jj} \end{bmatrix} = \Delta_{ii} \Delta_{jj} - \Delta_{ij} \Delta_{ji} = \Delta_{ii} \Delta_{jj} - \Delta_{ji}^2 \geq 0. \tag{16}$$

These are sufficient convexity conditions of function  $B(x) \ln \frac{B(x)}{C(x)}$ , and therefore of the initial function

$$A(x) + B(x) \ln \frac{B(x)}{C(x)}.$$

Find the mixed partial derivatives  $\frac{\partial^2}{\partial x_i \partial x_j} \left[ B(x) \ln \frac{B(x)}{C(x)} \right]$ :

$$\begin{aligned} \frac{\partial^2}{\partial x_i \partial x_j} \left[ B(x) \ln \frac{B(x)}{C(x)} \right] &= \frac{\partial}{\partial x_j} \left( B'(x) \ln \frac{B(x)}{C(x)} + B'(x) - \frac{C'(x)B(x)}{C(x)} \right) = \\ &= \tilde{r}_i \frac{C(x)}{B(x)} \frac{B'_j(x)C(x) - C'_j(x)B(x)}{C^2(x)} - (\tilde{r}_i - r_{i1}) \frac{B'_j(x)C(x) - C'_j(x)B(x)}{C^2(x)} = \\ &= \tilde{r}_i \left( \frac{B'_j(x)}{B(x)} - \frac{C'_j(x)}{C(x)} \right) - (\tilde{r}_i - r_{i1}) \left[ \frac{B'_j(x)}{B(x)} - \frac{C'_j(x)B(x)}{C^2(x)} \right] \end{aligned} \tag{17}$$

where  $B'_j(x) = \frac{\partial}{\partial x_j} B(x) = \tilde{r}_j$ ;  $C'_j(x) = \frac{\partial}{\partial x_j} C(x) = \tilde{r}_j - r_{j1}$  and substituting these assignments in (17)

obtain



$$\begin{aligned}
 & \tilde{r}_i \left( \frac{\tilde{r}_j}{\sum_{i=1}^N x_i \tilde{r}_i - r^*} - \frac{\tilde{r}_j - r_{j1}}{\sum_{i=1}^N x_i (\tilde{r}_i - r_{i1})} \right) - (\tilde{r}_i - r_{i1}) \left[ \frac{\tilde{r}_j}{\sum_{i=1}^N x_i (\tilde{r}_i - r_{i1})} - \frac{(\tilde{r}_j - r_{j1}) \sum_{i=1}^N x_i \tilde{r}_i - r^*}{\sum_{i=1}^N x_i (\tilde{r}_i - r_{i1})^2} \right] = \\
 & = \frac{\tilde{r}_i \tilde{r}_j (\sum_{i=1}^N x_i (\tilde{r}_i - r_{i1})^2) - \tilde{r}_i (\tilde{r}_j - r_{j1}) (\sum_{i=1}^N x_i \tilde{r}_i - r^*) (\sum_{i=1}^N x_i (\tilde{r}_i - r_{i1}) - \tilde{r}_j (\tilde{r}_i - r_{i1}))}{(\sum_{i=1}^N x_i (\tilde{r}_i - r^*) (\sum_{i=1}^N x_i (\tilde{r}_i - r_{i1})^2)} - \\
 & \frac{\sum_{i=1}^N x_i (\tilde{r}_i - r_{i1}) (\sum_{i=1}^N x_i \tilde{r}_i - r^*) + (\tilde{r}_i - r_{i1}) (\tilde{r}_j - r_{j1}) \sum_{i=1}^N x_i (\tilde{r}_i - r_{i1})^2}{(\sum_{i=1}^N x_i \tilde{r}_i - r^*) (\sum_{i=1}^N x_i (\tilde{r}_i - r_{i1})^2)} = \\
 & \frac{\tilde{r}_i \tilde{r}_j (\sum_{i=1}^N x_i (\tilde{r}_i - r_{i1})^2) - (2\tilde{r}_i \tilde{r}_j - \tilde{r}_i r_{j1} - \tilde{r}_j r_{i1}) (\sum_{i=1}^N x_i (\tilde{r}_i - r_{i1})) (\sum_{i=1}^N x_i \tilde{r}_i - r^*)}{(\sum_{i=1}^N x_i \tilde{r}_i - r^*) (\sum_{i=1}^N x_i (\tilde{r}_i - r_{i1})^2)} + \\
 & + \frac{(\tilde{r}_i - r_{i1}) (\tilde{r}_j - r_{j1}) (\sum_{i=1}^N x_i \tilde{r}_i - r^*)^2}{(\sum_{i=1}^N x_i \tilde{r}_i - r^*) (\sum_{i=1}^N x_i (\tilde{r}_i - r_{i1})^2)}. \tag{18}
 \end{aligned}$$

For convenience and cut of transformations denote the denominator as

$$(\sum_{i=1}^N x_i \tilde{r}_i - r^*) \sum_{i=1}^N x_i (\tilde{r}_i - r_{i1})^2 = E(x). \tag{19}$$

Substituting the expressions for  $\Delta_{ii}$  and  $\Delta_{ij}$  from (15) and (18) into (16) and obtain

$$\begin{aligned} \Delta_{ii}\Delta_{jj} - \Delta_{ji}^2 &= \frac{\left[ \tilde{r}_i \sum_{i=1}^N x_i (\tilde{r}_i - r_{i1}) - (\tilde{r}_i - r_{i1}) \left( \sum_{i=1}^N x_i \tilde{r}_i - r^* \right) \right]^2}{E^2(x)} \times \\ &\times \left[ \frac{\tilde{r}_j \left( \sum_{i=1}^N x_i (\tilde{r}_i - r_{i1}) - (\tilde{r}_j - r_{j1}) \left( \sum_{i=1}^N x_i \tilde{r}_i - r^* \right) \right)}{E^2(x)} \right]^2 - \\ &- \frac{\{ \tilde{r}_i \tilde{r}_j \left( \sum_{i=1}^N x_i (\tilde{r}_i - r_{i1}) \right)^2 - (2\tilde{r}_i \tilde{r}_j - \tilde{r}_i r_{j1} - \tilde{r}_j r_{i1}) \left( \sum_{i=1}^N x_i (\tilde{r}_i - r_{i1}) \right) \left( \sum_{i=1}^N x_i \tilde{r}_i - r^* \right) \}}{E^2(x)} + \\ &+ \frac{(\tilde{r}_i - r_{i1})(\tilde{r}_j - r_{j1}) \left( \sum_{i=1}^N x_i \tilde{r}_i - r^* \right)^2}{E^2(x)}. \end{aligned} \tag{20}$$

For further simplicity assign

$$\sum_{i=1}^N x_i (\tilde{r}_i - r_{i1}) = \tilde{r} - r_{\min}; \quad \sum_{i=1}^N x_i \tilde{r}_i - r^* = \tilde{r} - r^*. \tag{21}$$

Substituting them into (20) obtain

$$\begin{aligned} \Delta_{ii}\Delta_{jj} - \Delta_{ji}^2 &= \frac{\left[ \tilde{r}_i (\tilde{r} - r_{\min}) - (\tilde{r}_i - r_{i1}) (\tilde{r} - r^*) \right]^2}{E^2(x)} \times \\ &\times \left[ \frac{\tilde{r}_j (\tilde{r} - r_{\min}) - (\tilde{r}_j - r_{j1}) (\tilde{r} - r^*)}{E^2(x)} \right]^2 - \end{aligned}$$

$$\begin{aligned}
& - \frac{\{\tilde{r}_i \tilde{r}_j (\tilde{r} - r_{\min})^2 - (2\tilde{r}_i \tilde{r}_j - \tilde{r}_i r_{j1} - \tilde{r}_j r_{i1})(\tilde{r} - r_{\min})(\tilde{r} - r^*)\}}{E^2(x)} + \\
& + \frac{(\tilde{r}_i - r_{i1})(\tilde{r}_j - r_{j1})(\tilde{r} - r^*)^2}{E^2(x)}.
\end{aligned} \tag{22}$$

Further assign

$$\tilde{r}_i(\tilde{r} - r_{\min}) - (\tilde{r}_i - r_{i1})(\tilde{r} - r^*) = F; \quad \Delta_{ji} = \frac{H}{E},$$

$$\tilde{r}_j(\tilde{r} - r_{\min}) - (\tilde{r}_j - r_{j1})(\tilde{r} - r^*) = G.$$

Substituting into (23), obtain

$$\Delta_{ii} \Delta_{jj} - \Delta_{ji}^2 = \frac{F^2 G^2 - H^2}{E^2} = \frac{(FG - H)(FG + H)}{E^2} > 0. \tag{23}$$

Non-negativeness condition (24) is following:

$$FG - H > 0.$$

Thereof (hence)

$$\begin{aligned}
FG - H &= [\tilde{r}_i(\tilde{r} - r_{\min}) - (\tilde{r}_i - r_{i1})(\tilde{r} - r^*)] \cdot [\tilde{r}_j(\tilde{r} - r_{\min}) - (\tilde{r}_j - r_{j1})(\tilde{r} - r^*)] - \\
& - \tilde{r}_i \tilde{r}_j (\tilde{r} - r_{\min})^2 - (2\tilde{r}_i \tilde{r}_j - \tilde{r}_i r_{j1} - \tilde{r}_j r_{i1})(\tilde{r} - r_{\min})(\tilde{r} - r^*) - (\tilde{r}_i - r_{i1})(\tilde{r}_j - r_{j1})(\tilde{r} - r^*)^2 = \\
& = \tilde{r}_i \tilde{r}_j (\tilde{r} - r_{\min})^2 - \tilde{r}_j (\tilde{r}_i - r_{i1})(\tilde{r} - r^*)(\tilde{r} - r_{\min}) - \tilde{r}_i (\tilde{r} - r_{\min})(\tilde{r}_j - r_{j1})(\tilde{r} - r^*) + \\
& + (\tilde{r}_i - r_{i1})(\tilde{r}_j - r_{j1})(\tilde{r} - r^*) - \tilde{r}_i \tilde{r}_j (\tilde{r} - r_{\min})^2 + (2\tilde{r}_i \tilde{r}_j - \tilde{r}_i r_{j1} - \tilde{r}_j r_{i1})(\tilde{r} - r_{\min})(\tilde{r} - r^*) - \\
& - (\tilde{r}_i - r_{i1})(\tilde{r}_j - r_{j1})(\tilde{r} - r^*)^2 =
\end{aligned}$$

$$= (\tilde{r} - r_{\min})(\tilde{r} - r^*) \left[ -\tilde{r}_j(\tilde{r}_i - r_{i1}) - \tilde{r}_i(\tilde{r}_j - r_{j1}) - 2\tilde{r}_i\tilde{r}_j - \tilde{r}_i r_{j1} - \tilde{r}_j r_{i1} \right] = 0 \tag{24}$$

Thus we have obtained the following conditions

$$\Delta_{ii} = \frac{\partial^2}{\partial x_i^2} \left[ B(x) \ln \frac{B(x)}{C(x)} \right] > 0 ; \text{ for all } i = \overline{1, N}.$$

Diagonal minors of the form  $\mu_{i1} = \begin{bmatrix} \Delta_{ii} & \Delta_{ij} \\ \Delta_{ji} & \Delta_{jj} \end{bmatrix} \geq 0.$

These are the sufficient conditions of convexity of function  $B(x) \ln \frac{B(x)}{C(x)}$ , and therefore the convexity of function

$$A(x) + B(x) \ln \frac{B(x)}{C(x)}.$$

Now it's only left to show that the product of convex functions  $A(x) + B(x) \ln \frac{B(x)}{C(x)}$  и  $D(x)$  will be convex as

well at the interval  $x_i \in [0, 1], i = \overline{1, N}$  taking into account that  $D(x) = \frac{1}{\sum_{i=1}^N x_i (r_{i2} - r_{i1})}$

where  $r_{i2} \geq r_{i1}, x_i \in [0, 1], \sum_{i=1}^N x_i = 1.$

Notice that  $A(x) + B(x) \ln \frac{B(x)}{C(x)}$  и  $D(x)$  as proved previously are positive and monotonically decreasing.

For convenience denote  $A(x) + B(x) \ln \frac{B(x)}{C(x)} = \varphi(x).$

Let's prove that  $\varphi'(x) < 0.$

$$\frac{\partial \varphi}{\partial x_i} = \frac{\partial}{\partial x_i} \left( A(x) + B(x) \ln \frac{B(x)}{C(x)} \right) = A'(x) + B'(x) + B(x) \frac{C(x)}{B(x)} \frac{B'(x)C(x) - C'(x)B(x)}{C^2(x)} =$$

$$= A'(x) + B'(x) \ln \frac{B(x)}{C(x)} + B'(x) - \frac{B'(x)C(x)}{C(x)}. \quad (25)$$

Substituting the values  $A'(x)$  and  $B'(x)$  obtain

$$\begin{aligned} \frac{\partial \varphi}{\partial x_i} &= -r_{i1} + \tilde{r}_i \ln \frac{B(x)}{C(x)} + \tilde{r}_i - (\tilde{r}_i - r_{i1}) \frac{B(x)}{C(x)} = \\ &= \tilde{r}_i \left( 1 + \ln \frac{B(x)}{C(x)} \right) - r_{i1} - (\tilde{r}_i - r_{i1}) \frac{B(x)}{C(x)}. \end{aligned} \quad (26)$$

As  $\frac{B(x)}{C(x)} < 1$ ,  $-r_{i1} + \tilde{r}_i \frac{B(x)}{C(x)} < 0$ .

Therefore, after simplifying (27), we obtain

$$\frac{\partial \varphi}{\partial x_i} = \tilde{r}_i \left( 1 + \ln \frac{B(x)}{C(x)} - \frac{B(x)}{C(x)} \right), \quad (27)$$

$$1 + \ln \frac{B(x)}{C(x)} - \frac{B(x)}{C(x)} = 1 + \ln \frac{\tilde{r} - r^*}{\tilde{r} - r_{\min}} - \frac{\tilde{r} - r^*}{\tilde{r} - r_{\min}}, \quad (28)$$

According previous assumptions  $r^* > r_{\min} = \sum_{i=1}^N x_i r_{i1}$  and  $\tilde{r} > r^*$ . Lets show that (28) is greater than 0.

Denote  $\tilde{r} - r^* = a$ . Then  $\tilde{r} - r_{\min} = \tilde{r} - r^* + (r^* - r_{\min}) = a + y$ ,  $y = r^* - r_{\min} > 0$ .

Then

$$1 + \ln \frac{\tilde{r} - r^*}{\tilde{r} - r_{\min}} - \frac{\tilde{r} - r^*}{\tilde{r} - r_{\min}} = 1 + \ln \frac{a}{a + y} - \frac{a}{a + y}. \quad (29)$$

Let's show that

$$\Delta = 1 + \ln \frac{a}{a+y} - \frac{a}{a+y} < 0, \text{ for all } y > 0.$$

Evidently,  $\Delta = 1 + \ln \frac{a}{a+y} - \frac{a}{a+y} = 0$  by  $y=0$  and function is monotonically decreasing, as

$$\Delta'(y) = -\frac{1}{a+y} + \frac{a}{(a+y)^2} = -\frac{y}{(a+y)^2} < 0 \text{ for all } y > 0.$$

Therefore  $\Delta(y) < 0$  under  $y > 0$ . Previously we have proved that  $D(x) = \frac{1}{\sum_{i=1}^N x_i (r_{i2} - r_{i1})}$  is convex.

Consider

$$\frac{\partial}{\partial x_i} (\varphi(x)D(x)) = \varphi'(x)D(x) + D'(x)\varphi(x) < 0. \quad (30)$$

Find second partial derivatives

$$\begin{aligned} \frac{\partial^2}{\partial x_i^2} [\varphi(x)D(x)] &= \varphi''(x)D(x) + \varphi'(x)D'(x) + D''(x)\varphi(x) + D'(x)\varphi'(x) = \\ &= \varphi''(x)D(x) + \varphi(x)D''(x) + 2D'(x)\varphi'(x). \end{aligned} \quad (31)$$

It was proved earlier that  $\varphi'(x) < 0$ ;  $D'(x) < 0$ ;  $D''(x) > 0$ ;  $\varphi''(x) > 0$  therefore

$$\frac{\partial^2}{\partial x_i^2} (\varphi(x)D(x)) > 0.$$

Therefore, risk function  $\beta(x) = \varphi(x)D(x)$  is convex. End of proof.

---

**Optimality Conditions for Dual Fuzzy Portfolio Problem**


---

As it was earlier shown the dual portfolio problem (7)-(8) is convex programming problem under the corresponding conditions. Taking into account that constraints (8) are linear compose Lagrangian function

$$L(x, \lambda, \mu) = \beta(x) + \lambda(r^* - \sum_{i=1}^N x_i \tilde{r}_i) + \mu(\sum_{i=1}^N x_i - 1). \quad (32)$$

The optimality conditions by Kuhn-Tucker are such:

$$\frac{\partial L}{\partial x_i} = \frac{\partial \beta(x)}{\partial x_i} - \lambda r_i + \mu \geq 0; i = \overline{1, N}, \quad (33)$$

$$\frac{\partial L}{\partial \lambda} = -\sum_{i=1}^N x_i \tilde{r}_i + r^* \leq 0,$$

$$\frac{\partial L}{\partial \mu} = \sum_{i=1}^N x_i - 1 = 0,$$

and conditions of complementary non-fixedness

$$\frac{\partial L}{\partial x_i} x_i = 0, i = \overline{1, N},$$

$$\frac{\partial L}{\partial \lambda} \lambda = \lambda \left( -\sum_{i=1}^N x_i \tilde{r}_i + r^* \right) = 0, \quad (34)$$

$$x_i \geq 0, x \geq 0,$$

where  $\lambda \geq 0$  и  $\mu$  are Lagrange multipliers.

This problem may be solved using standard methods of convex programming, for instance by the method of feasible directions or penalty functions method.

---

## Conclusion

---

The dual fuzzy portfolio problem is considered. The sufficient conditions for this problem to be convex were obtained and investigated. The optimality conditions for the solution were obtained.

---

## Acknowledgement

---

The paper is partially financed by the project ITHEA XXI of the Institute of Information Theories and Applications FOI ITHEA and the Consortium FOI Bulgaria. [www.ithea.org](http://www.ithea.org), [www.foibg.com](http://www.foibg.com).

---

## Bibliography

---

[Недосекин, 2003] Недосекин А.О. Система оптимизации фондового портфеля от Сименс Бизнес Сервисез / Банковские технологии. – 2003. – № 5. – Также на сайте: <http://www.finansy.ru/publ/fin/004.htm>

[Зайченко, Малихех, 2008] Юрий Зайченко Юрий, Малихех Есфандиярфард. Оптимизация инвестиционного портфеля в условиях неопределенности на основе прогнозирования курсов акций // Proceedings of XIV-th International Conference "KDS-2008" (Knowledge, Dialogue, Solution). June, 2008, Varna, Bulgaria.-Sophia. - Pp. 212-228.

[Зайченко, 2007] Зайченко Юрий, Малихех Есфандиярфард. Анализ и сравнение результатов оптимизации инвестиционного портфеля при применении модели Марковитца и нечетко-множественного метода // Proceedings of XIII-th International Conference "KDS-2007" (Knowledge, Dialogue, Solution), Vol.1 , pp.278-286.

[Зайченко, 2008] Зайченко Ю.П., Есфандиярфард М. Оптимизация инвестиционного портфеля в условиях неопределенности.// Системні дослідження та інвестиційні технології. - 2008. - №2. - С.59-76.

---

## Authors' Information

---

*Zaychenko Yuriy P., Dr. of sci., professor, Institute for Applied system analysis NTUU "KPI", Kiev*

*e-mail : [baskervil@voliacable.com](mailto:baskervil@voliacable.com)*

*Maliheh Esfandiaryfard (Iran), post-graduate student , NTUU"KPI", Kiev, prospect Pobedy,37*

*e-mail: [fard\\_sem@yahoo.com](mailto:fard_sem@yahoo.com)*